Intermediate Algebra - 3.1-3.2 - Distance, Midpoint, Domain and Range 04sept2015

Chapter 3 Homework:

3.1 - #3-29 odd ordered pairs, distance, midpoint

3.2 - #3-16 all, 21-43 odd, 49-87 odd functions, domain, range

3.3 - #3-9 odd, 15-33 odd graph by plotting points, x- and y-intercepts

3.4 - #3-19 odd, 29-41 odd finding slope, graph using slope and y-intercept
3.5 - #3-49 odd finding equations of lines

3.1 - The Rectanqgular Coordinate System

Plotting points, finding the distance between two points, and the midpoint between them

In Pythagorean Theorem
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Find the distance between (2, -3) and (-5, -1).
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Find 4he midpoint behween (23) &(-l .
X1 Y, ZHV

Q‘mﬂ“‘): (5_,*_)(,_ , 3_!_':_3_
2

Q*C‘ -5 +5

&2 >\>

(3 ) s Hhe mid O\ﬂ'é be'll«)?ej\ (5 -5
and what othes ‘;)o./\‘(: - >

(359) = (51“)6 —52:19

3:5_2( _.\ :—5*\\5
2 2_
b=5+X ‘2=~5+(j

04sept2015



Intermediate Algebra - 3.1-3.2 - Distance, Midpoint, Domain and Range

relation-set of ordered pairs

function -relation in which no two ordered pairs have the same
first coordinates but different second coordinates ( ™Mus P&S‘.S
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y = 3x=2x (O)O>> O’D> <'\ ’5>

X s the independent vasriable

(we can choose Values 1o p/uj in> X
yis the dependent varable /—ﬁ/g\
(Lﬂ volues are depen dent an the

Y values we P49 )
= 4 is a Junction of X f of x

Pun?-_—} jonal potetion: S:qc (%)

Fvaluating a Funchion
¥ - (X )53

F00 = 3x=2X (x F63)
1C<z>= 3(2,)”‘-2,(2) = 3(#) -4 —,[2_4
FD=3(-2(D= 3(V* 6 =2%+6 =[33)
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h(£)=F-2t
hCSy=7F-2(9:7+10 =(F]
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() = 32 =32 -8 =fax-1|

Domain is the set of real numbers for which the function value is

a real number (the set of numbers that "make sense" when you

plug them into the function)

F6)= % XEO

* exclude values of variable that give us (

O in the denominator &

negative values under a radical
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What valnes aye @ in 4he dormain®

s o\am.a.'\n';
0O =3+  X#T Fx[x# 43
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State the domain of the function.

F(X) =% Ixlx=zo% = [0,
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Range ° output  of Yhe domain

506D (50 (33K
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State the domain and range of the function graphed in blue.
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State the domain and range of the function.

y

A
4
3 o2
2
1

Domain: (= °°,"3) UC_B) 3:]
(£.22)

L

x
1;2345

Range: C'°° 3 0]\) 233

— T

Domain: C—OOJ

so,-2Ju(l )0°>

Range: C-

vvvvvvv

1

2

3

o
5

o) = IR

04sept2015



Intermediate Algebra - 3.1-3.2 - Distance, Midpoint, Domain and Range

‘F(X> Ix-2 What is e domain of £

X—=5
x=-5#0 and %x-3Z0
XES N xXz3
g
3 s [2,3)v (5%

¥<X> What is aomain®.
\|>< 3
*-320 ond A-3 0O
Xx-3>0

x| x>3%

e
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J5 X
FOY= 22—
) e
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